











Exam II Review - Worksheet Math 1131 Class #31

Name: Section:
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Concrete Applications of Derivatives

1. Suppose that a population of bacteria is growing in a petri dish. Suppose also that the first

time you look at the dish you count 20 bacteria, and that you count 200 bacteria in the dish

—3 hours Tafer. Find a formula for the population as a function of the number of hours ¢ since
your first measurement.
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2. Suppose that Ebola is spreading through the city of Waterbury. Four people are ill two days
into the outbreak, and eight people are ill four days in. Find a formula for the number ill a
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substance has a half life of 3 years. Find a formula for the amount of radioactive substance
remaining after ¢ years.

What is the welght of the radioactive substance thatclery%lzs)aftel 9 years?
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Exam I Review - Worksheet Math 1131 Class 16

Name: Section:

Higher Derivatives

1. Compute the second derivative of the following function:

f(z) = 252° + 32z* + 923 + 144
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2. Let f(z) =z — 7€* + (~1) - 2°. Find f"(z).
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3. Compute the : second denvatwe of the fo_l—lo;/mgv function:
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4. Let y = %. Find ¢". . /: w tE;
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